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buyer.rb + (~/work/my_tdd/lib) - VIM — vim

1 class Buyer
2 def initialize

3 ..

4 end

lib/buyer.rb [+]




buyer.rb + (~/work/my_tdd/lib) - VIM — vim

1 class Buyer
2 def initialize

3 ..

4 end

lib/buyer.rb [+]
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quuire File.expand_path('../../lib/buyer', _ FILE_ )
require 'rspec’

describe Buyer do
it 'should fail' do
false.should be_true
end
end

1
2
3
4
5
6
7
8
9

spec/buyer_spec.rb

"spec/buyer_spec.rb" 9L, 147C
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% rspec spec/buyer_spec.rb

Buyer

Failures:

1) Buyer should fail

# ./spec/buyer_spec.rb:7:in “block (2 levels) in <top (required)>'

Finished in 0.37183 seconds

Failed examples:

# Buyer should fail
s i ~/work/my_tdd
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Lib/buyer.rb [+] - -

3 require 'rspec’

4

5 describe Buyer do
6 it 'should be initialized with budget' do
7 buyer = Buyer.new(1000)

8 buyer.budget.should == 1000

9 end

10 end

spec/buyer_spec.rb

:noh




$ rspec spec/buyer_spec.rb )(\/“J P?f)‘):;[, \%
2TY

Buyer

Failures:

1) Buyer should be initialized with budget

# ./spec/buyer_spec.rb:8:in ‘block (2 levels) in <top (required)>'

Finished in 0.37688 seconds

Failed examples:

# Buyer should be initialized with budget
$ I ~/work/my_tdd




Buyer#budget & ("HAH"1=(1)

1 class Buyer
2 def budget
3 end

4 enl

lib/buyer.rb
3 require 'rspec'’
4
5 describe Buyer do
6 it 'should be initialized with budget' do
7 buyer = Buyer.new(1000)
8 buyer.budget.should == 1000
9 end
10 end
spec/buyer_spec.rb
"lib/buyer.rb" 4L, 35C written
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$ rspec spec/buyer_spec.rb ~/work/my_tdd

Buyer

Failures:

1) Buyer should be initialized with budget

# ./spec/buyer_spec.rb:8:in ‘block (2 levels) in <top (required)>'

Finished in 0.37947 seconds

Failed examples:

# Buyer should be initialized with budget
$ ~/work/my_tdd
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1 class Buyer

2 def initialize(budget)
3 @budget = budget
4 ] end

5 def budget
6 @budget
7 end
8 end

lib/buyer.rb

3 require 'rspec'’

4

5 describe Buyer do

6 it 'should be initialized with budget' do
7 buyer = Buyer.new(1000)

8 buyer.budget.should == 1000

9 end

10 end

spec/buyer_spec.rb

"lib/buyer.rb" 8L, 99C written




$ rspec spec/buyer_spec.rb

Buyer

should be

Finished in 0.38831 seconds

example, @ failures

s 1l

~/work/my_tdd

~/work/my_tdd
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def buy(record) < g %X -
8 (] Other Bookmarks
9 @budget = @budget - record.price
10 @records << record
11 end ~/work/my_tdd
12
13 end

Lib/buyer.rb
21 david_lee_roth = Record.new(100)
22 buyer.buy david_lee_roth
23 buyer.budget.should == 900
24 end
25 it 'should not add record without enough budget' do
26 buyer = Buyer.new(1000) ugh budget
27 james_brown = Record.new(10000)
28 buyer.buy james_brown
29 buyer.records.should_not include james_brown
30 end
31 end
32 end

s) in <top (required)>'

spec/buyer_spec.

Failed examples:
EZVNSASINRAF TV ORBET

# Buyer#buy should not add record without enough

~/work/my_tdd mas
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def buy(record)
8 @budget = @budget - record.price

13 enS!records << record %\ﬁ%tiff.%l/:_
11 KAE Z 2RV KSIZL T
12 end <7":é[,\

Lib/buyer.rb

23 buyer.budget.should == 900

24 end

25 it 'should not add record without enough budget' do
26 buyer = Buyer.new(1000)

27 james_brown = Record.new(10000)

28 buyer.buy james_brown

29 buyer.records.should_not include james_brown
30 end

31 end

spec/buyer_spec.rb

"lib/buyer.rb" 12L, 202C written




$ rspec spec/buyer_spec.rb ~/work/my_tdd

Buyer
should be
#buy

should adad

Failures:

1) Buyer#buy should not add record without enough budget

# ./spec/buyer_spec.rb:29:in ‘block (3 levels) in <top (required)>'

Finished in 0.38048 seconds

Failed examples:

# Buyer#buy should not add record without enough
budget
s B ~/work/my_tdd
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def buy(record)
return if @budget < record.price

10 @budget = @budget - record.price
11 @records << record

12 end

13

14 end

Lib/buyer.rb

23 buyer.budget.should == 900

24 end

25 it 'should not add record without enough budget' do
26 buyer = Buyer.new(1000)

27 james_brown = Record.new(10000)

28 buyer.buy james_brown

29 buyer.records.should_not include james_brown
30 end

31 end

spec/buyer_spec.rb
"lib/buyer.rb" 14L, 240C written
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$ rspec spec/buyer_spec.rb ~/work/my_tdd

Buyer

should be i1initialized with budget
#buy

Finished in 0.3892 seconds
mples, © fTailures

$ .AH» N ~/work/my_tdd
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watchr:
https://github.com/mynyml/watchr
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